2N SAERSY
i HHSAAH|(SAEZRE)
2 =2l (Etel: F2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
e 14,053,103 15,802,211 A1,749,108
= 171,400
[ 889,334
= 50,000
= 12,942,369
H2YAH(SAERS) 30,100 30,100 0
DIEEETT 30,100 30,100 0
J123H| 30,100 30,100 0
201 LB 19,300 19,300 0
01 AlR2:2|H] 16,300 16,300 0
OJIEMREEH] 100,000 %2091 2,000
OAIRII| & 2Al 2H2E
8,000,000 8,000
OJ|Et==EH| 1,500,000 1,500
OSHI(SAEREN AREA)
8,00024+2001%30A! 4,800
02 2229 3,000 3,000 0
ORER2 S 3,000,000 3,000
202 O4H| 10,800 10,800
01 =LH0IbI 10,800 10,800
OZ2|0HI(BE0HI)
180,000 *5 & S+ 12 10,800
HHAZ2Y(SAZERED) 3,600 3,600 0
SNER2A 3,600 3,600 0
REEEEE] 3,600 3,600 0
203 AR=ZIH| 3,600 3,600 0
04 BPASHARFZY| 3,600 3,600 0
ORNSH2HAREZIY)|
300,0002+ 122 3,600
S 1 1,449,107 1,245,352 203,755
= 38,000
[ 204,065
= 50,000
= 1,157,042
SEXAZRI2Y 442,280 282,685 159,595
= 38,000
[ 11,200
x 50,000
= 343,080
R = SHE REXY L 2A22Y 158,700 22,860 135,840
201 LB 9,300 5,460 3,840
01 AlR2t2lH] 5,340 1,500 3,840
OZH|(RESULET)
8,000 *621x804] 3,840
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SN sASFSW
Zu: 2= X
P RSISARRRIES (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEENER VT
1,500,00021%1 = 1,500
02 S324H| 3,960 3,960 0
O=Sa2 228 208 ®Ie3
100,000&*12& 1,200
OsSUSTHIE U2 2,760
OSSEASEIE MRS
200, 00024+ 122 2,400
OSSAUSTNE A5leE 23
30,000& 123 360
202 048l 14,400 14,400
01 =LHOHI 14,400 14,400 0
LIPS 200, 00021601+ 122 14,400
203 =&l 3,000 3,000 0
03 A= AR =L 3,000 3,000
OSAEREN AIMEA
3,000,000 3,000
401 AIZHIZL S0 132,000 132,000
01 Al2HI 132,000 132,000
OsSit2 €28 208 EH HIE
132,000, 000% 10 2 132,000
f sSttE 22 N2 16,000 16,000 0
201 28t=d| 16,000 16,000 0
01 At22tel] 16,000 16,000
ORSAIENH &=, 20 f 28 =85 7
= 6,000, 0002 6,000
OAZHAL AT QU B4 I
10,000,000 10,000
L RSEESAIE 52,000 58,325 A\6,325
307 212t01 ™ 52,000 52,000 0
02 QIZHHAAIEE X 52,000 52,000 0
OAPCEI I SSHEZESIIAZAI
130,000, 0002 *40% 52,000
SSHEH| 155,500 171,500 216,000
= 38,000
= 7,600
i 109,900
307 212t01 ™ 155,500 171,500 A16,000
= 38,000
= 7,600
i 109,900
02 QIZHHAAIEE X 155,500 171,500 A16,000
OSSEEHIXIFAY
152,000,000 *50% 76,000
= 38,000
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SN sASFSW
HH: € X9
P RSISARRRIES (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 7,600
[ 30,400
OAPC 2 |SSHEHIXIRA
265,000,000 *30% 79,500
stt2 SEPIExASHE(ZH]) 10,080 14,000 23,920
= 3,600
i 6,480
307 212t01 ™ 10,080 14,000 23,920
& 3,600
i 6,480
02 I B AP E X 10,080 14,000 23,920
Ostie SHOY X3 84
14,400,000& *70% 10,080
& 3,600
i 6,480
ASH EIIZ2EE ME X At 50,000 0 50,000
ES 50,000
401 AIZHIZL S0 50,000 0 50,000
ES 50,000
01 Al&H] 50,000 0 50,000
OAS =)|RBE RIZ MX| Al
50,000,000 50,000
ES 50,000
sttE RSAIE £X 419,307 0 419,307
= 125,784
i 293,523
2712 sttE FSAE ZXAE 419,307 0 419,307
< 125,784
[ 293,523
402 BItAH=01 M 419,307 0 419,307
< 125,784
i 293,523
02 QIZEXH=AIS 22 (01 - THE) 419,307 0 419,307
OARR SM2 SEAL SIIA
419,307,000& 419,307
= 125,784
i 293,523
=222 stt=E & 587,520 962,667 A375,147
& 67,081
i 520,439
SaEFATZ X2 (XHH) 114,317 411,067 N\296,750
301 LBtE2NS 114,317 411,067 AN\296,750
14 J|Et2d= 114,317 411,067 N\296,750
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2AN: SAERSH
M RE XA
e 222 sesE N (ciol: 7Sl
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OsS42 ZIEH 2 X
30,000,000 30,000
OtldsatE 88| XA
34,317,000& 34,317
OJIs4E ZIRHIE XA
30,000,000 30,000
OMZBEE XA 20,000,0002 20,000
=2Z 843t A 194,600 148,000 46,600
201 LE23H| 90,000 90,000 0
01 AtR22lt] 30,000 30,000 0
Ot A=A F& 5,000,000 %63 30,000
03 A2 FH| 60,000 60,000 0
OQHY RLESAE GIQAIZH (220! 8 i
HBA} 20,000,00024+33] 60.000
202 0t 20,000 20,000
03 22AH20HI 20,000 20,000
Outatsl & fQAESEAL 2O}
2,500,000&*421x23| 20,000
301 et Z 5,000 5,000
09 2BI=H0Y| 5,000 5,000 0
Ot 281010 A E =]
1,000,000 %521%13] 5,000
308 AXIHMSOI&E 79,600 33,000 46,600
13 S| 2S0ICHEHE & E 2T AL S| 79,600 33,000 46,600
Ol EH=SAL =& 79,600,0002 79,600
K-sitE deES SERIRFAY 23,333 23,333 0
= 7,000
o 16,333
402 CIZHRHE0|A 23,333 23,333 0
& 7,000
= 16,333
02 QIZENEAMLE R (01X M) 23,333 23,333 0
OZZ HE-l K& 23,333,0002 23,333
& 7,000
= 16,333
SEsAE =222 2 NOXIFAS 10,270 11,667 A1,397
= 3,081
o 7,189
402 CIZERHE0|A 10,270 11,667 A1,397
= 3,081
o 7,189
02 QIZEAEAMLE X (0| M) 10,270 11,667 A1,397
Q=i 222 2383 JHo (A
10,270,000& 10,270
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SN SAZRED
A Q% N
gel: =222 sttt 12 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
< 3,081
z 7,189
ANSAZ MATT 222 S80I A 190,000 20,000 170,000
< 57,000
= 133,000
402 OIZFRH=01H 190,000 20,000 170,000
= 57,000
= 133,000
02 SIZFAHZ AR 2 X (01 H A 190,000 20,000 170,000
Otldlisate MAER 222 84 X8
190,000, 0002 190,000
< 57,000
z 133,000
MEAE SEH AFAY 5,000 10,000 5,000
301 LEEAZ 5,000 0 5,000
ISIEErG=] 5,000 0 5,000
OMEAE 2t X2 5,000,0008! 5.000
HSIATAIE JHE DI A2 50,000 0 50,000
307 IR0 50,000 0 50,000
02 SIRIZAAS B E 50,000 0 50,000
OBHAAIAIZ JHE OEIIEHl Xig
100,000, 0002/ %50% 50,000
ENEIEEETE] 715,197 598,200 116,997
= 93,000
< 78,524
z 543,673
BANY F TS, 715,197 598,200 116,997
= 93,000
= 78,524
z 543,673
ST T=ETEIT ] 5,000 6,300 1,300
= 5,000
201 2Bt 2,000 5,000 3,000
= 2,000
01 Ar222|| 2,000 5,000 23,000
Oget+2H| 2,000,000 2,000
= 2,000
202 01l 3,000 1,300 1,700
= 3,000
01 2UHoiH 3,000 1,300 1,700
OYHAL =7 3,000,000 3,000
= 3,000
ZZHIE0/ 04 22X 450 450 0
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2A: SAEREDR
M M2 M UG
Rl AN ZYARYS CEREERD
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
101 QI24H] 450 450
M JIHR22IEES 450 450
ZTHIED| ZAI2 WH QISAIA
150,00024%301+ 12 450
UFAI X L 22| 270,000 269,450 550
307 212+0|& 250,000 250,000 0
02 QIFAAAIRIE R 250,000 250,000 0
Ol 01012 EEALY
500, 000, 0002 *50% 250,000
402 QI2EXH201 M 20,000 19,450 550
01 QIZFRF2 AL E AR (XHRITHS) 20,000 19,450 550
ORPC HHEZSEED| XA
40,000, 0002 *50% 20,000
UMAIL XA 351,747 278,000 73,747
[ 78,524
= 273,223
402 QI2EXH20| M 351,747 278,000 73,747
[ 78,524
= 273,223
02 BIZERFE A E R (O X THS) 351,747 278,000 73,747
OLFAIE KIFAHS 351,747,000 351,747
[ 78,524
= 273,223
HEokm XY HIA 88,000 44,000 44,000
= 88,000
206 THEH] 88,000 44,000 44,000
= 88,000
01 XH2H] 88,000 44,000 44,000
OF2L= ZHM HE 88,000,0002 88,000
= 88,000
Zesc e 1,660,000 1,643,196 16,804
DegUc eSS 1,660,000 1,643,196 16,804
ZECUE E20PE 23 1,660,000 1,643,196 16,804
201 L2 A 260,000 243,196 16,804
01 AFRZH2IHI 260,000 243,196 16,804
O/l ZESMCE Q2D 259,000
0JHQl & HOIEHA|(242 &)
300,0002461CH* 122 219,600
0S4 28X ($42 ZE)
300, 00024 *9CH+ 12 32,400
0E4Al E22 2E(AIF, WH)
100,000 *20CH 2,000
02122 HE| 5,000,000 5,000
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SN SAZERED
Hu: DEUpHc P
el ZSEHERLISY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=sogc el Ao9asl =g
100, 000&1%501x23] 1,000
301 LErE R 334, 180 1,400,000 1,065,820
14 JErE A= 334, 180 1,400,000 1,065,820
OMIY DESUCS TREA 1|
334, 180,0002 334, 180
307 QI2F0/A 1,065,820 1,065,820
02 IFAAAIIE X 1,065,820 0 1,065,820
OAQIE DESUCS THBA X2(ZI], bl
) 1,065,820,0002 1,065,820
o2l 2™ K 2,506, 484 4,698,379 2,101,895
= 17,000
[ 365,320
@ 2,214,164
EREIIE] 2,175,312 4,237,842 2,062,530
= 17,000
[ 360, 120
- 1,798, 192
o2l 92 =& 22,400 16,320 6,080
201 LEr2 9| 3,200 1,920 1,280
01 Al22r21H| 3,200 1,920 1,280
O=t| 8,000 *501x80 Al 3,200
202 oitl 19,200 14,400 4,800
TR 19,200 14,400 4,800
O%He| g = 200,000 *501% 122 12,000
Ostasl HE S YL =X
200,000 301+ 128 7,200
=TI E] 822, 441 834,860 A12,419
[ 328,977
- 493,464
308 XIXISHISOIA 822, 441 834,860 A12,419
[ 328,977
@ 493,464
08 WS IZ0INEHE 822, 441 834,860 A2, 419
OX.Z. 058D 24| N
822,441,0002 822, 441
[ 328,977
- 493,464
SASAE SDSA A 27,002 28,643 1,64
[ 11,575
- 15,407
308 XIXISHISOIA 27,002 28,643 1,64
[ 11,575
@ 15,427
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2AM:

K ZH

SAERED
o{2| HH Xgl

&l el X (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
08 W= Z0ItHete = 27,002 28,643 1,641
OFera sa2 stnzAl X
27,002,000 27,002
= 11,575
— 15,427
o5 Aflz 2ol A 188,613 196,650 8,037
308 XX HAISO0IA 188,613 196,650 8,037
08 WS ZNHEE X 188,613 196,650 8,037
024 A2 ULl X
45021%2,20621% 190 188,613
02101 hU2Al X AL 11,682 13,563 1,881
= 3,505
= 8,177
307 QIZHOIA 11,682 13,563 1,881
= 3,505
— 8,177
02 DIHAAAIIB R 11,682 13,563 A 1,881
OOIRI0IE DYU2HAl X2
1,10024%23621 %453 11,682
= 3,505
— 8,177
22| 0t0] AZZAIR X A 90,216 82,656 7.560
= 9,924
= 80,292
308 KIXISHHSO0I& 90,216 82,656 7.560
= 9,924
— 80,292
08 WS ZHSHE X 90,216 82,656 7.560
OS2l 0t0] ALZAIZ X
7,0002*35801%602 *60% 90,216
= 9,924
— 80,292
FAK| GAP OHE A 24 K| 34,000 37,400 23,400
2 17,000
= 5,099
— 11,901
301 YBHFFEZ 34,000 37,400 3,400
2 17,000
= 5,099
— 11,901
14 J|Et2 A2 34,000 37,400 3,400
OGP Q1SS QAR A AAM| X 34,000
0GAP QIS OHRARA A X
250,000+ 1330} 33,250
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2A:
X{XH -
o /e

cH):

SAERED
o{2| HH Xgl

el K&

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 16,625
[ 4,987
= 11,638
0GP QIS EURS 24 X2
250,0002%3 0} 750
= 375
[ 112
= 263
GAP QI 22 X 3,470 8,200 A4,730
[ 1,040
= 2,430
301 YB3 3,470 8,200 N4,730
[ 1,040
= 2,430
14 J|EI2 A3 3,470 8,200 A4,730
CGAP 215 =2 X 3,470,000 3,470
[ 1,040
= 2,430
ORI SEIXIRNEH 2 975,488 0 975,488
101 Q124H| 125,245 125,245
02 JIEFRIE 2 89,214 0 89,214
OAIZHEER 2| HZ22 89,214
0122 (2IIHI8Z)
2,955,87024x201x 122 70,941
&= 244,130+ 101+ 128 2,930
0SSR RLSHAIZHIEI T 2E)
141,8802% 101+ 122 1,703
0ItELE 120,00024x201x 122 2,880
0FAHZ A 140,000 %201+ 122 3,360
0Z 32X 157,500 %101x 1224 1,890
OAIZIRIZ R4S
10, 16224 % 15A1 2H20 1 122 3,659
0ADEAM| 10, 1682191 A| 2Hx201 1,851
M IIHR2R2ISES 36,0831 0 36,031
OJIZHHIZ22 Xt 36,081
== 78,8802 %301x22 2 x5 26,031
IR=5222Y 78,880 R%301x24 2! 5,680
0=0I3 31,711,0002 %4 . 5% 1,427
0HZEE=E 31,711,00024%3.545% 1,125
IRYLEH= 1,125,00024%12.81% 145
0LEEE= 31,711,0002%1.75% 555
OMTHEE = 31,711,000 %1% 318
oml =] 250,000 %391 750
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L =AERS])

HHcel = XS

el K&

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
201 Br23H| 82,740 82,740
01 At22t2ldl 47,940 47,940
OUIRISENME B2H4 M=
20,000,000 *14] 20,000
ORIl AltidsZ
250,000 x4 2 1,000
OIS 50,0001 CH*42 200
ORCIAHIAIAE 2| 300,000 x4 1,200
Ogtet A=2ta|H| 200,000 *62 1,200
OAagorMae|theiE 200,000 x4 2 800
O&Jetdete|tid= 200,000 %4 800
OAMRES & HMARE 7Y
1,000,000 1,000
O2iileiisl 2H4y
100,000 %17Q1x13] 1,700
OIS (OHA)RI/E 2E+Y
100, 00024+ 1501%43] 6,000
Oo=2g9=8 72 10,000,000 10,000
O&XX= 120,000 x20H 240
OYHE XD 100,000 *5H 500
O2BHH Xt 110,000 %30} 3,300
02 332 32,800 32,800
OMIILa & HAl 26,600
0XIIR2 4,000,000 %58 20,000
0AtEIEER2 400,000 42 1,600
0S4Ra 200,000 x4 2 800
QMASHI AU Z
500,000 * 14| 500
OXFSXHA 400,000 1CH 400
0Kt S XS Al 2,500,0002*1CH 2,500
(NE=INI=E= 1= 800,000 *1CH 800
OAIEEHIRX 5,000,000 %1 A! 5,000
OxtEsA & RF0U
300,000 *1CH*42 1,200
03 A2 ZHI 2,000 2,000
OYUHC| SERIRHE Z24! HA
2,000,000 14! 2,000
204 XM ZFH| 1,050 1,050
02 SFLLHYI 1,050 1,050
OAIZHEERHILDIH CHRIZEHSH|
43,750 3+221+ 123 1,050
206 24| 731,000 731,000
01 MHZ4] 731,000 731,000
23(8t0)34 A2 (AIE2H9s )
146,200,000 *5IH A 731,000
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2A:

ME: o] ME K@
Pl SSAE AHEH 24 (St M 2l)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
O=Sat2 BESAL 2 Biets| &4
30,0002 *4Q1x52+53] 3,000
TRIHHEZS A/ AHIR 2,500 2,500 0
307 2I2H0| & 2,500 2,500
04 QIZFSHAIAIZIE X 2,500 2,500
OHRINES 26 g
2,500,000 2,500
2ZC FAAY XY 26,000 70,000 A44,000
[ 5,200
= 20,800
201 L2 26,000 70,000 44,000
[ 5,200
= 20,800
01 Al222IH 26,000 70,000 44,000
OAtIE DRI EE
20,000,000 20,000
[ 4,000
= 16,000
OFe10l XA 6,000,000 6,000
[ 1,200
= 4,800
RIIC H=XE 2Y 218,040 207,613 10,427
101 o124 132,557 127,130 5,427
M IIHR22ISES 132,557 127,130 5,427
oJlez 78,8802 %401 %2552 80,458
O=¢ 78,88021*x401x932 29,344
O=glgig 109,802,000 %4 . 5% 4,942
OHLEE= 109,802, 00024%3. 545% 3,893
OFIRIYEE= 3,893,0002412.81% 499
OU82E= 109,802,000 %1.75% 1,922
ONMEE = 109,802,000 %1% 1,099
OE=3 2,400,000 %401 9,600
o=22= 1Y 200,000 %491 800
201 L2 75,483 70,483 5,000
01 AF222IHI 43,675 43,675 0
ORQIFHIAIAL AlBZ
150, 00024 <2 A 122 3,600
O&=J| Xtz 30,600 *2IH A* 122 735
Om=E L AAEE
200,000+ 122 2,400
o'gseE7Y 3,440,000 2} 4 6,880
OINP=ESHN[:] 8,500,000 8,500
ORZIZC =X It DK 2AR
500,0002%23] 1,000
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S AR
M o B K

Siol: =SA2 XhNE s (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ORZEC H=ZH 2P ¢
70,0002 %401x23] 560
O2ZZC 210|8HM zl
10,000,000 %23 20,000
02 222 19,808 14,808 5,000
03322 €% 9,904,000 %20 A 19,808
03 SAH2ZH| 12,000 12,000 0
OSEHA = 3,000, 00024 +2JH A #2353 12,000
301 LBtEXS 10,000 10,000 0
14 J|EI2 A2 10,000 10,000
OHIO|EH OlHE 10,000,000 10,000
AR DHARE 29 88,632 87,424 1,208
101 Q124H| 12,112 10,824 1,288
M JIHH22XS 12,112 10,824 1,288
orl== 78,8802 1011202 9,466
O=¢ 78,8804 101x 1220 150% 1,420
O=td= 10,886,000244 . 5% 430
OAHBEE= 10,886,000 %3.545% 386
OIQLIE= 386,0002%12.81% 50
OUEZE= 10,886,000 %1.75% 191
OtEs= 10,886,000 * 1% 109
201 B2 A 51,520 51,600 280
01 AF222IHI 39,920 40,000 280
OSmEAl B8 292E ¢
5,000,00024%53] 25,000
O==cl=HH| 13,000,000 1JH A 13,000
OSZHI(DFARE 42 =X)
8,0002%301%80A! 1,920
02 2229 3,600 3,600 0
OsE2=HR 300,000+ 14 Ax 122 3,600
03 SAH2ZH| 8,000 8,000 0
OSTHsiAL =& 2,000,000 %43 8,000
301 YRHEAS 15,000 15,000 0
14 JIEI2AS 15,000 15,000 0
QHO|EH OIHE =& 7,500,000 #23] 15,000
401 Al&H| 2 S HY 10,000 10,000 0
01 Al&H] 10,000 10,000
OAlE€EHI 10,000,000 %1742 10,000
A OBHIE AL 1,694,167 1,085,167 609,000
[ 1,000
= 1,693, 167
0PI AL 1,694,167 1,085,167 609,000
[ 1,000
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2 SAERSD
HH: SAS0BIE ALY
el OBIE A CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 1,693, 167
EEIES 13,400 10,960 2,440
201 L2 A 3,200 2,560 640
01 AFRZH2IHI 3,200 2,560 640
OSZHI(MAHATSAREZI)
8,000 *501x804! 3,200
202 04H| 10,200 8,400 1,800
01 2LH0IH 10,200 8,400 1,800
OMAFATIS D48
150,00024x501x 122 9,000
OUZHY &8 L =822 =X
100,000+ 101x 122 1,200
EERSE 201,077 196,337 4,740
101 Q124H| 145,89 141,990 3,906
02 JIEFRIE 78,745 75,393 3,352
OAIFSE R LD R 78,745
0J1=22(2IIH9Z)
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2 600
= 180
2 420
01 2LH0HI 1,200 1,200 0
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SN SAZSED
. SESA 2dst
o9l sIIAR X (cio: x5
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=J o= BaAT
1,200,000 1,200
= 600
& 180
i 420
206 M= Hl 8,800 8,800 0
= 4,400
= 1,320
i 3,080
01 MZH 8,800 8,800 0
S s = e 7Y
8,800,000 8,800
= 4,400
= 1,320
i 3,080
SIASHER FHAEH 29,000 9,000 20,000
= 11,600
= 3,480
i 13,920
402 212tXH=01 S 29,000 9,000 20,000
= 11,600
= 3,480
i 13,920
02 BIZAHE A 2 (01X THS) 29,000 9,000 20,000
OsIIHS=HER F5 A&
100,000 *290CH 29,000
= 11,600
= 3,480
i 13,920
SIAHEEY sIIR8 28z 2 50,000 36,670 13,330
& 12,500
i 37,500
301 LetE2d= 50,000 36,670 13,330
& 12,500
i 37,500
14 J|Et2 = 50,000 36,670 13,330
s 2835 K& 50,000,000 50,000
& 12,500
i 37,500
C2IRSEIAZIHRXA 150,000 100,000 50,000
301 Et2HS 150,000 100,000 50,000
14 JIEt2d= 150,000 100,000 50,000
O% S2IIA OIMHA HZBUE X
150,000,000 150,000
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2AM:
T ZH -
o /e

cH):

HEE

2A - HH . H(SH) - MRAIY - BES Ol AtK Ol Aton Hns2t
== 2A 2435} 3,312,691 2,529,175 783,516
120X EAE] 29 3,600 3,600 0
201 LB A 1,200 1,200 0
01 AF222IHI 1,200 1,200 0
O120XEAE2Y AIR2RE S 7Y
100,00084% 123 1,200
202 04H| 2,400 2,400
01 2oL 2,400 2,400 0
O120X A2 AL 29
100,0002%201x 122 2,400
120XIAEAE 2AIES XY 44,100 29,600 14,500
201 LB A 18,500 4,000 14,500
01 AFR2t2IHI 18,500 4,000 14,500
O120=3| 2 At ZLEARR M
30,000 1021x103] 3,000
O120 K+ 2 AF 500AI12F QIZTH HIZ
500,000 %30H 15,000
O120KHA S AFRE ZHAHH HI=
100, 00024 %501 500
206 H=H 15,400 15,400
01 XHEH] 15,400 15,400
O120XI2ZA HE 7 15,400
I MESE 22 7Y
200,000 %113 2,200
0JtAAHIS2| 22 ¢
100,0002 %113 1,100
00| - DIZ2EA THE ¢
100,000 %113 1,100
0&II&HIS2 HE Y
100,000 %113 1,100
0Z%A ME HE 2
300,000 %113 3,300
0522, 244 W2 2Y
100,000 * 113 1,100
OMEoIRIXE| THE Y
100,000 x4Z+113] 4,400
0JIEt 27 L Ha 7Y
100,0002 %113 1,100
301 YB3 10,200 10,200 0
11 BAFAHIXIRZ 10,200 10,200 0
O120RH2 S A BIIE D3| &4
15,0002 %3501 525
O120XIRSAIR =3 SAIRS EA
15,0002 %25Q1x 113 4,125
O120 KA S ARt 24Es] &HA
15,00024x3501+23] 1,050
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2 SAERSD
HHM: SESA 245
ol SE SA 2435 (cro): =2l
SN B SL(3) - MBAY - BaS Ofl b Gl RS2
O120XFE AR HXIX] A5
150,000 %302! 4,500
IRE L BotE AX| - 22 3,264,991 2,447,825 817,166
201 LB A 575,991 427,525 148,466
02 222 575,991 427,525 148,466
O2222 < HMAl 573,500
0IIRS, 2ots AIIR3
35,000,000 122 420,000
0IIRS, 2OotS UUSRIATNAIAL S
tes 1,500@1%1,6500H A% 122 29,700
DIIRS, 2ots Mitze| & eiixel s
s 60,0002 %122 720
0IIRS, 20tS MARRIAIAL QIEYR
= 110,000 % 12 1,320
DIIRS, BOIS 8t BEAILRHZ
336, 6002 %2007 2 67,320
0= XS OHMEICHE AT
48,7002 %1854 A 9,010
0IIRS OHEEICHLEAR
8,2002%1,9007H A 15,580
0E0tS OHNEICHE 2T
19,9002 %1, 5007 4 29,850
OJZE L 2otE Ba3t2 2] 2,491
oxt& == 1,650 *472|E{* 122 931
OXt&k==4H| 130,000 %1 CH* 122 1,560
206 XHEH| 339,000 192,300 146,700
01 XHEH] 339,000 192,300 146,700
OIRE, 2o RXES I 2L 339,000
0I2S uetst IIEHI0I| 2
1,650,0002*20H 33,000
02OIS Uotst HsAHEI|
180,000 %300H 54,000
0E0HS kst ZHAIHMS HD| 2
1,400, 00024 +20 4 28,000
0JI2E LEDED |7 7Y
4200002 * 100K 42,000
020t LeDEE 2 90,0002!*800H 72,000
0JI2S ¥ 2ots E& P2(1H)
10,0002%10, 000H 100,000
0J1EF XHAH & 10,000,000 %1 Al 10,000
401 Al&HI L2 0HH 2,350,000 1,758,000 592,000
01 Al&H] 2,350,000 1,758,000 592,000
OJIRE, 2oE RXE4 SHpH
200,0002%2,00024 400,000
OEtS Al - 014 L DHAIY 780,000
MRS A - 5HBH)| Bots Al - 0l & WA
=2 1,500,000 304 A*23] 90,000
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2A SAZSSD
N SESA M5
Ce: SE 2A 2435 (49 7
A - BH - ERI(S) - HRAIY - BAS il &kt Gl HIDS2
OXIZ0T A - otEh)| Hors Al - 012 & Wl
SAt 1,500, 00024 %2074 A 23 60,000
0280 AF- 5lEH| HOIS Al- 0|4 2 WA
SAb 1,500,0002 %2074 A +23] 60,000
OMZED Ab- 3HEH)| HOS Al- 0|4 & WF
SAt 1,500,0002 %2074 A +23] 60,000
02N A - 5HEHD| HOS Al- 014 2 DA
SAt 1,500, 00024 %254 A 23 75,000
QANRIDY AF - BHEH)| HOIS Al- 0|4 2 WF|
SAt 1,500,0002 %2074 A +23] 60,000
OAIETI AF- BlEH)| HOIS Al - 0|4 & W
SAt 1,500, 0002/ *307H A 23 90,000
OSHE D! AF - BHEH)| HOIS Al- 014 2 WF|
SAt 1,500, 00024 *307H A 23 90,000
QAIQHH AF - BHEH)| OIS Al- 0|4 2 WF|
SAt 1,500,0002 %2074 A 23] 60,000
OAH|ZFH A - GIEH| OIS Al - 0|4 & 1
MESA 1,500, 00024 * 1571 A #2353 45,000
QAISD AF - BHEH| HOIS Al- 0|4 2 WA
SAt 1,500, 00024 * 15 A 23 45,000
04t - BHBH)| BOIS 212 Al - 014 2 D2
At 1,500,0002* 1574 A+23] 45,000
OJZE ALY 810,000
028H QFOIS-US0IS JII2SE X2
At 3,000,000 %2071 A 60,000
QMEM DSW AHZ| =0 JIRS &2
At 5,000,0002* 1074 A 50,000
QALRIDY [HRIAL HZZ JIRS SXIZAH
5,000, 0002%707H A 350,000
DAEE BHE XISEIAII 2L JIRS AR
SAt 5,000, 0002 %6074 A 300,000
OAIRDI CIE2B A2 JIRS SEXIZAF
5,000,000 % 107 A 50,000
OL= JI2S wHAS 240,000
O AIDIKl =2II2S DHIBAF
3,000,0002%30 0 A 90,000
OAIED! AIDIK =2 JI2S WHIBA
3,000,0002%30 74 A 90,000
QAIOHH AIDIX =225 DHIBAF
3,000,0002%207H A 60,000
OJIZE, BotE SXEAIL 4 120,000
0TI BAF QHEIRICH SFSIAIA LR
A 100,0002+20004 A 23] 40,000
0FD|OHETAL DM 2REAIA 2
Ab 100, 00021 *2007H A *235] 40,000
0JI2E XE =302 DHZAH
2,000,0002%20A 2+ 40,000
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